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R — 200,000
R = 400,000
X = 600,000
Rk 4R —: IR FEAR =
b wxl— | rR= | = i txl— | HRl= | tx=
0 9,124 13,261 16,579 0 9,124 13,261 16,579
1 7,554 10,962 13,686 1 7,554 10,962 13,686
2 5,234 7,591 9,465 2 5,234 7,591 9,465
3-17 3,755 5,250 6,385 3-17 3,755 5,250 6,385
18-35 3,755 5,250 6,385 18-35 3,942 5,512 6,704
36-40 4,480 6,310 7,720 36-40 4,704 6,625 8,106
41-45 5,790 8,210 10,100 41-45 6,079 8,620 10,605
46-50 7,060 10,050 12,390 46-50 7,413 10,552 13,009
51-55 8,670 12,350 15,230 51-55 9,103 12,967 15,991
56-60 11,020 15,770 19,510 56-60 11,571 16,558 | 20,485
61 13,070 18,700 | 23,130 61 13,723 19,635 | 24,286
62 14,050 | 20,100 | 24,860 62 14,752 21,105 | 26,103
63 15,050 | 21,540 | 26,650 63 15,802 22,617 | 27,982
64 16,120 | 23,090 | 28,570 64 16,926 24,244 | 29,998
65 17,110 24,520 | 30,350 65 17,965 25,746 | 31,867
66 17,910 | 25,670 | 31,780 66 18,805 | 26,953 | 33,369
67 18,750 | 26,880 | 33,290 67 19,687 28,224 | 34,954
68 19,690 | 28,260 | 35,020 68 20,674 | 29,673 | 36,771
69 20,690 | 29,720 | 36,850 69 21,724 | 31,206 | 38,692
70 21,700 | 31,190 | 38,710 70 22,785 | 32,749 | 40,645
71 22,710 | 32,670 | 40,560 71 23,845 | 34,303 | 42,588
72 23,770 | 34,230 | 42530 72 24,958 | 35941 | 44,656
73 24,730 | 35,630 | 44,280 73 25,966 37,411 46,494
74 25,740 | 37,100 | 46,130 74 27,027 | 38,955 | 48436
75 26,790 | 38,640 | 48,050 75 28,129 | 40,572 | 50,452
76 27,940 | 40,340 | 50,200 76 29,337 | 42,357 | 52,710
77 29,140 42,110 52,440 77 30,597 | 44,215 | 55,062
78 30,360 | 43,910 | 54,720 78 31,878 | 46,105 | 57,456
79 31,630 | 45,790 | 57,100 79 33,211 48,079 | 59,955
80 32,950 | 47,760 | 59,600 80 34,597 | 50,148 | 62,580




Rk SR =

i txl— | AR | RI=
0 9,124 13,261 16,579
1 7,554 10,962 13,686
2 5,234 7,591 9,465
3-17 4,318 6,037 7,342
18-35 4,318 6,037 7,342
36-40 5,152 7,256 8,878
41-45 6,658 9,441 11,615
46-50 8,119 11,557 14,248
51-55 9,970 14,202 17,514
56-60 12,673 18,135 22,436
61 15,030 21,505 26,599
62 16,157 23,115 28,589
63 17,307 24,771 30,647
64 18,538 26,553 32,855
65 19,676 28,198 34,902
66 20,596 29,520 36,547
67 21,562 30,912 38,283
68 22,643 32,499 40,273
69 23,793 34,178 42,377
70 24,955 35,868 44,516
71 26,116 37,570 46,644
72 27,335 39,364 48,909
73 28,439 40,974 50,922
74 29,601 42,665 53,049
75 30,808 44,436 55,257
76 32,131 46,391 57,730
77 33,511 48,426 60,306
78 34,914 50,496 62,928
79 36,374 52,658 65,665
80 37,892 54,924 68,540

Q| = 207 Qus}
i Hxl— | = | HR=
0 9,124 13,261 16,579
1 7,554 10,962 13,686
2 5,234 7,591 9,465
3-17 5,257 7,350 8,939
18-35 5,257 7,350 8,939
36-40 6,272 8,834 10,808
41-45 8,106 11,494 14,140
46-50 9,884 14,070 17,346
51-55 12,138 17,290 21,322
56-60 15,428 22,078 27,314
61 18,298 26,180 32,382
62 19,670 28,140 34,804
63 21,070 30,156 37,310
64 22,568 32,326 39,998
65 23,954 34,328 42,490
66 25,074 35,938 44,492
67 26,250 37,632 46,606
68 27,566 39,564 49,028
69 28,966 41,608 51,590
70 30,380 43,666 54,194
71 31,794 45,738 56,784
72 33,278 47,922 59,542
73 34,622 49,882 61,992
74 36,036 51,940 64,582
75 37,506 54,096 67,270
76 39,116 56,476 70,280
77 40,796 58,954 73,416
78 42,504 61,474 76,608
79 44,282 64,106 79,940
80 46,130 66,864 83,440




